Math 11
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ate of Change — Review #1

1. Which of the following graphs has a constant rate of change?
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2. In which graph is the rate of change increasing?
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The average rate of change from 1 hour to 4 hours is:
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1 The average rate of change from interval A to B is:
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7. Which of the following grzgs describes average rate of change?
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2. In which graph is the rate of change increasing?

a)

!

0

3. The scores on tests from
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c) Remained Constant d) Do not have enough info.
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The average rate of change from 10 seconds to 50 seconds was:
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Semester Two

Which of the following graphs describes instantaneous rate of change?
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10.h=-2(t-372+4

A) Find the average rate of change fromt=1tot=>5.
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B) Find the instantaneous rate of change att=2.
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11. The following chart shows the change in

temperature of a freezer when it is turned on. [ Hour Temperaturep,
1 s -5 %

A) Find the average rate of change from 2 to 5 hours. 2 6< 14
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B) Use the table to determine the equation that best models the data. Q\AF\ DRA 'T)l)(, 0
L3
y= — X H+Mx+10 * Rememb 1o
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12.h=-4.9¢ + 19.2t + 400 w%r\g:\ .gﬁ gk?_cn-?"rst
At what time is the instantancous rate of change equal t grg’? - 0,

* Verte -
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b= ‘ ° 1, seconds.
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